

Indian Institute of Technology, Patna

IWD, IITP - Kanpa Road, Bihta Patna, 801 106 (Bihar)

Date: 28.07.2022

NOTICE INVITING QUOTATION

NIQ No.- IITP/IWD/RS/NIQ/10/2022

INTRODUCTION

- Sealed quotations are invited from eligible and reputed vendors asper eligibility criteria given in Annexure-I
- 2. The interested eligible bidders should download the NIQ from the official website of IIT Patna (i.e. iitp.ac.in in Tender/ NIQ Section) from 29.07.2022 to 09.08.2022.

3. Name of the WORK:

Construction of one numbers of Soak Pit for rain water discharge near SS-3 at IIT patna Campus.

The work will be done under supervision of Assistant Engineer (Civil, Residential zone), IIT Patna.

4. GENERAL GUIDELINES:

- i) The interested bidders may visit the site to have an exact idea regarding the Works to be done, before submission of bid.
- ii) The work to be completed within 30 (Thirty) days of receipt of work order as per delivery schedule.
- iii) Utmost importance should be given on the quality of work. It should be strictly as per direction of E/I.
- iv) Any item of substandard quality will be rejected out-right and the Executive Engineer Civil RZ, IIT Patna has the right to cancel the order.

5. PROCEDURE AND TIME FOR SUBMISSION OF DOCUMENTS:

SCHEDULE OF DATES:

- (a) Date of download of NIQ documents- From 29.07.2022 to 09.08.2022 till 3:00 PM from the official website.
- (b) Last date and time of submission of sealed quotation document 09.08.2022 up to 3:00 p.m. in tender box at Admin building IIT Patna near Gard post.

- (c) Date and time of opening of quotation 09.08.2022 at 03.30 PM.
- (d) Place of opening of quotation: In the Office of EE Civil RZ.
- (e) Validity of quotations: **60 Days**.
- 6. a. The Quotation superscripted as "Construction of one numbers of Soak Pit for rain water discharge near SS-3 at IIT patna Campus." addressed to the EE civil RZ, IIT Patna, Kanpa Road, Admin Building, Bihta, Patna-801106, must reach not later than 3:00 p.m. on 09.08.2022.
 - b. After expiry of the scheduled date & time, no quotation will be accepted under any circumstances.
 - c. Rate should be quoted in the 'PRICE BID FORMAT' (Annexure-II and III & as per prescribed in the Quotation Document).
 - d. Prices shall be inclusive of all taxes, duties, GST, levies, transportation etc. as applicable. If turnover is less than 40 lakhs an undertaking by the bidder to be given that no GST registration required.
- g. Along with the quotation the bidders has to submit the following forms as well as credentials (self-attested):-
 - I) Experience Certificated as per Annexure-I
 - II) Photo Copy of PAN.
 - III) Price Bid Format (Annexure –II & III)
 - IV) GST no.

7. TERMS OF PAYMENT:

(I) No advance payment in any case will be made. Payment will be made against the bill after completion of work.

E Civil (RZ)

IIT Patna

Eligibility Criteria:

Contractors/ vendors who fulfill the following requirements shall be eligible to apply. The jointventures are not accepted.

a) Experience of having completed/substantially completed during the last 5 years following 'similar works' ending last day of the month previous to the one in which applications invited:

Three *similar completed works costing not less than the amount equal to 40% of theestimated cost.

OR

Two *similar completed works costing not less than the amount equal to 60% of theestimated cost

OR

One *similar completed work costing not less than the amount equal to 80% of theestimated cost.

AND

One work of any nature (either part of (i) or a separate one) costing not less than the amount equal to 40% of the Estimated cost put to tender with some Central/State Government Organization/Central Autonomous Body/Central Public Sector undertakings.

The "Similar work" shall mean 'Civil Work'

- A Completion certificate from Client must be submitted by the bidder.

for



Indian Institute of Technology, Patna

IWD, IITP - Kanpa Road, Bihta Patna, 801 106 (Bihar)

To be filled up by the contactor: -		
Name of the work:- Painting work of Director Bungalow's boundary wall	at IIT Patna.	
I/We agree to carry out the above mentioned works	% below or	%
above or. At per of the estimated cost is	.(in figure. Rs.)	
	······································	(in words)

Signature of Contactor.

Mob. No.-

Email-id-

In

Name	Name of the work:- Construction of one numbers of Soak Pit for rain water discharge near SS-3	ge ne		at IIT Patna campus.	ampus.
SI No.	Description of Item	Unit	Quantity	Rate	Amount
7	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 sqm on plan) including getting out and disposal of excavated earth lead upto 50 m and lift upto 1.5 m, as directed by Engineer-in-charge.				
	All kind of soil	cnm	26.595	205.45	5463.943
7	1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size).	cnm	0.7865	7945.65	6249.254
m	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in foundation and plinth in				
	Cement mortar 1:6 (1 cement : 6 coarse sand)		4.925	6658.25	32791.88
4	12 mm cement plaster :				
	1:4 (1 cement : 4 coarse sand)	•	9	294.35	1766.1
2	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete upto plinth level.	kg	10	89.65	896.5
9	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20cm in depth,				
	consolidating each deposited layer by ramming and watering, lead up to 50 m and lift upto 1.5 m.	cnm	10	253.95	2539.5
7	Supplying and filling in plinth with sand under floors, including watering, ramming, consolidating and dressing complete.		2	2161.2	4322.4
8	Supplying and filling of red brick bats	cnm	14.718	1400	20902.2
6.	Providing and laying non-pressure NP2 class (light duty) R.C.C. pipes with collars jointed with stiff mixture of cement mortar in the proportion of 1:2 (1 cement : 2 fine sand) including testing of joints				
	etc. complete:	mtr	Z5 Total	493.1	86962.28

